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Note : Answer all questions. All questions carry equal
marks.
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(b) T25,000 TG qAT ¥ 40,000 F A
afte ¥ SUR @«

() ¥15000 ®H TFE 1 HIEA T 20,000
¥ TR 9=l

(d) T8,000 F WFE H A T 12,000 F
TSN & SHR S9II _

(e) 2,000 IFF F THT T T 500 A
IT R

"How will you prove that the accounting

equation is satisfied in the following
transactions ?

(a) Started business with cash ¥ 70,000.

(b) Purchased goods for cash ¥ 25,000. and
on credit from Anil ¥ 40,000.

(c) Sold goods for cash ¥ 20,000 costing
¥ 15,000.

(d) Goods costing ¥ 8,000 sold to Prakash
on credit ¥ 12,000.

(¢) Paid salary ¥2,000 and

(3)
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What is Accounting ? Explain the Accounting
Cycle and types of accounts.

&3 / Unit-11
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(b) 3®W | ¥25000 F T faw W
T fog 3 fam s § Seoifea
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(c) Tea fmn ¥ wafwd ¥3,286 &I
T WE M W ¥ | I

(@) #4 9@ ¥ wEAFEA 2,000 H

salary T A W S § R W
outstanding ¥ 500. by
34T / OR ‘
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() vt whgft ¥ fes R = fea
T ¥25,000 F YEM, TR F @R
¥ e fem T

() IEt } wa fael ¥ FEER gL
F T45000 TN FLR W WEE
¥ 72,500 #t g 9 Ta& o
T46,000 ¥ Wt HI

o faaro & Wiy SEifya sHa wfafes)
dfSq @@ 39 @@ W@R FHifw)

A bdok keeper finds the difference in the

Trial Balance amounting to ¥ 786 and puts
it in the Suspense Account.

Later on he detects the following errors :

(a) Purchase goods from Ravi for ¥ 15,000
but entered into Sales Book.

(b) Received one bill of ¥25,000 from
Arun but recorded in the Bills Payable
Book.

(c) An item of ¥ 3,286 relating to prepaid
rent account was omitted to be brought
forward. 4

(5)

(@ An item of ¥2,000 in respect of
purchases returns, has been wrongly
entered in the purchases account,

(e) The payment made to Hari ¥ 25,000
against his acceptance was debited to
Hari’s account.

(f) Bills recived from Janki for computer
supplied for ¥ 45,000 and repairs done
to computer ¥ 2,500 were entered in the
purchases book as ¥ 46,000.

Give rectified journal entries with full
narration and prepare Suspense Account.
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What is meant by Final Accounts? Why is
Balance Sheet included in Final Accounts
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when infact it is a statement, not an
account ?
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3. gfe fafee ¥ wivd @) A 1 3, 2018

) 7 40,500 F1 AW 911 T 10% T
QA T o e G T SR 1 SR,
2018 ! FIE I TE WA W AHR TR o
8750 ¥ a9 &, & 1 adw, 2016 =
% 12,500 ¥ %9 fF T a1 I/ 7 Fe
3 % 25,000 Ht TH T WA G S| 31 A,
2019 ®! T & WS 1 1 A, 2016 |
T B TS F W | WE 39 i
FER &1 Foig femn ad 2018-19 1 weid
| |ifeu |

Shrishti Ltd. has a balance of ¥ 40,500 on
1 April, 2018 in its machinery account. 10%
p-a. depreciation was charged by diminishing
balance method. On 1st Oct, 2018 the
company sold a machine as it was useless
for ¥ 8,750, which was purchased on 1st
April, 2016 for ¥ 12,500..On the same date
the company purchased a new machine for
25,000 On 31st March, 2019 the
Directors of the company decided fo adopt
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the fixed method of depreciation instead of
diminishing balance method from 1st April,

2016. Open machinery account in the books
of company for 2018-19.

37T / OR
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How the accounts of non-trading institutions
are maintained ? Give specimen of these
accounts.
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4. A fafies 7 & miR Ivs 79 7 48,000

?, B fafes ¥ 1 adq, 2018 M fmmn
% Tgfd W w7 & | T/ g =
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714,000 M | AR In 70 w1 PEm
T frdl § fom m o ¥ W
fem 14,000 w1 § 3R W@ T F
a ¥ @ S ¥ feka gR 10% Wiend
oW A v W e A W
aw arn w@ ¥ faka b fafiee ®
W § EEE Wd SR

JDB 44 X (11) (Turn Over)



(8)

A Ltd. purchased a machine of the cash

price of ¥ 48,000 from B Ltd. on Hire
Purchase system on Ist April, 2018. Its
payment was made as follows:

An amount of ¥ 14,000 was paid on

delivery and the balance was to be paid in
three instalments of ¥ 14,000 each at the

end of each year. Vendor charges 10% per
annum interest on yearly balances.

Prepare necessary accounts in the books of
Vendor B Ltd.

37T / OR
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What is the meaning of Instalment payment
system ? What is the difference between Hire

Purchase System and Instalment Payment
System ?

@13 / Unit-V
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(9)

What do you mean by amalgamation of
firms ? Describe its objects, advantages and
disadvantages.

37T / OR

fr=ifeea fagr 31 =, 2019 4, B, @91 C
=t feafa 1 v F=@ R

IR ofe | - =t ufa

() ‘ @)
TR 20,000 | A% 5,000
T 1Y 15,000 | &hY 20,000
it @ TR 10,000
A - ¥ 25,000 W fagx 11,000
B - ¥ 15,000(40,000 | ¥t 20,000
C %1 {sit || 9,000
75,000 75,000

ERl ¥ fawed @1 foflr femn mm €
fearfera & ol Iwa wafa A Fael T 2,000
aqe gu Wt ¥ fre oot @
e faus @ 77,000 Rl d IR A T«
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g w1 2o% w9, w8 ¥ 14,0001
% 12,500 fased W=t aﬂ'§qliﬁ1‘ma
aﬁf@n‘m#a§q1wﬁ'amniﬁ'ﬁ'ﬁﬁﬂ'*
SR wget w, d wm T s T
TR »

Following Balance Sheet shows the position
of 4, B, C on 3lst March, 2019:

Liabilities Amount Assets Amount

€y @)
Creditors 20,000 | Cash 5,000
General Reserve 15,000 | Stock 20,000
Capital A/c : Debtors 10,000
A —T 25,000 Bills Receivable| 11,000
B—-% 15,000 | 40,000 Machinery 20,000
C’s Capital A/c 9,000
75,000 75,000

Decision regarding dissolution of the firm
was taken. C became insolvent and received
72,000 from his assets. The following
amounts were realised :

¥ 7,000 from Bills Receivable, 25% less
than the book value of Debtors and Stock,
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¥ 14,000 from Machinery. ¥ 12,500 were
realisation expenses. Assuming the Capital
A/c is fixed. Prepare Realisation A/c, Capital
Alc and Cash A/c as per decision of Garner
Vs Murray.
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